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QUESTION 1

A server in the production environment monitors output from various sensors along an assembly line. New equipment is
being added to the line that will require monitoring. The server administrator needs to add additional inputs to the server
for this new equipment. Which of the following input types is MOST likely required?

A. EIDE

B. SATA

C. Serial

D. Video

Correct Answer: C

QUESTION 2

A system administrator needs to provision storage for a 200GB database. The database must have extremely low seek
time. Which of the following is the BEST solution?

A. AJBOD

B. A RAID 50 array
C. ANAS

D. A single SSD

Correct Answer: D

QUESTION 3

A workstation is added to a newly created subnet using 192.168.100.0/24. A DHCP server is available on subnet
192.168.101.0/24. The user is unable to lease an address from the DHCP server. Which of the following would BEST
resolve the problem?

A. Assign the workstation a static IP address.

B. Add a second DHCP server to the 192.168.101.0/24 subnet.

C. Add a DHCP relay to the 192.168.100.0/24 subnet.

D. Add a DHCP server to the 192.168.100.0/24 subnet.

Correct Answer: C

QUESTION 4
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A technician is reviewing the following configuration from a newly installed server: Network Destination Netmask
Gateway Interface Metric

10.0.2.0 255.255.255.0 10.0.2.15 10.0.2.15 20
10.0.2.15 255.255.255.255 127.0.0.1 127.0.0.1 20
10.255.255.255 255.255.255.255 10.0.2.15 10.0.2.15 20
127.0.0.0 255.0.0.0 127.0.0.1 127.0.0.1 1

224.0.0.0 240.0.0.0 10.0.2.15 10.0.2.15 20
255.255.255.255 255.255.255.255 10.0.2.15 10.0.2.15 1

Which of the following commands was run to generate the above information and why is the server unable to
communicate with the Internet?

A. ROUTE PRINT. The default gateway is missing

B. NSLOOKUP. The loopback address needs to be removed.
C. IPCONFIG. The last line in the configuration is wrong.

D. TRACERT. The interface metric is too high.

Correct Answer: A

QUESTION 5

Which of the following RAID levels supports fault tolerance by writing parity to only one drive in the array?
A. RAID 3

B. RAID 5

C.RAID 6

D. RAID 10

Correct Answer: A

SK0-003 VCE Dumps SK0-003 Practice Test SK0-003 Exam Questions

SKO0-003 VCE Dumps | SK0-003 Practice Test | SK0-003 Exam Questions 3/3


https://www.pass4itsure.com/sk0-003.html
https://www.pass4itsure.com/sk0-003.html
https://www.pass4itsure.com/sk0-003.html
http://www.tcpdf.org
https://www.pass4itsure.com/sk0-003.html
https://www.pass4itsure.com/sk0-003.html
https://www.pass4itsure.com/sk0-003.html

